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TERM 3 END OF YEAR EXAM 2010
CHEMISTRY FORM 3
 PAPER 3

1. You are provided with 
· 1M hydrochloric acid, solution M
· Solution N, which was made by dissolving 10.6g of a mixture of anhydrous sodium carbonate solution and sodium chloride to make 1000 cm3 of solution.
You are required to
Determine the percentage of sodium chloride in the mixture.

PROCEDURE

Fill the burette with solution M.
Pipette 25.0 cm3 of solution N into a clean conical flask. Add 2-3 drops of methyl orange indicator and titrate with solution M. Record your results in the table below and repeat the procedure two more times to obtain consistent results.

Table:

	
	1st 
	2nd 
	3rd 

	Final burette reading (cm3)
	

	
	

	Initial burette reading (cm3)

	
	
	

	Volume of solution M used (cm3)

	
	
	


												(4 mks)

a) Determine the average volume of solution M used.					(1 mk)
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b) Calculate the number of moles of solution M used.					(2 mks)




c) What reacts with hydrochloric acid in the mixture?					(1 mk)




d) Calculate the number of moles in 25cm3 of solution N.				(2 mks)









e) Calculate the number of moles in 100cm3 of solution N made.			(2 mks)











f) What is the mass of sodium carbonate in the mixture?				(2 mks)








g) Calculate the percentage of sodium chloride in the mixture.				(3 mks)







2. You are provided with solid G. Carry out the test below and enter your observation and inferences in the spaces provided.

a) Place half of G, provided, in dry test-tube and heat strongly.

Observation						Inference















b) Place the remaining half in a boiling tube and add water until the test-tube is half-full. Shake the mixture and divide it into 3 equal portions.

Observation							Inference








c) To the first add a few drops of hydrochloric acid followed by a few drops of lead (II) nitrate solution.

Observation							Inference







D) To the 2nd portion add aqueous sodium hydroxide drop wise till in excess.

Observation							Inference










e) To the 3rd portion add a few drops of acidified barium chloride.

Observation							Inference
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